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SECTION-1| GENERALAPTITUDE TEST | 25 QUESTIONS

Study the below series and identify what

would come in the place of *7°.

7, 13,21,31,43,57,73, 7
(A) 89
(B) 91
(C) 93
(D) 97

Which of the pieces of information given in
the options is additionally required to answer
the following question?

Question:

Rajan is shorter than Ramesh, who is taller
than George, Who is the shortest amongst
them?

(A) Ramesh isthe tallest person
(B) George isshorter than Ramesh
(C) George istaller than Rajan

(D) Ramesh istaller than Rajan

Which of the pieces of information given in
the options is additionally required to answer
the following question?

Question:

The ages of three friends, A, Band C, are in
the ratio of 5 : 4 : 3. What is the age of the
eldest person?

(A) AliseldertobothBand C

(B) Theage of A isa perfect multiple of 5

(C) B was 5 vears old when C was born

(D) Theagedifference betweenAand Bis
the same as the age difference between
BandC

LA O

QI

Q2

Q3

FFr=iferiaa sjaen @1 ud siv s =4
yeAfaeEs (?) & Wi W B9 & HeEn
et |

7,13,21,31, 43,57, 73,9
(A) 89
(B) 91
(C) 93
(D) 97

Frfafta g &1 9wr o1 @ fore Rt
W Ry o g & e aiw &) sfefa
w9 | yEeddr arfi?

PECE
A, W W BIeT & aiv @y G 9
a1 & | 999 9 HaY gier o 27

(A) Y HEY war 8

(B) ifsl, TI9r 9 BT 8
(C) TS, To 9 oar &
(D) e, o | o9 8

ffeRea v & o @9 @ forn e
# fau v wam & v i & afaflaw
Ea s k2 s | I

e

o At A,BalR Catang 5:4:3 @
o # 8| waifre sy arer @l 9
amg o 8

(A) B3R CEHF & Ager &

(B) At &y 5@ gof Torat &

(C) 1@ C T Gf=1 §alT o1, @4 B &) 3y
5ay off

(D) Aafw Ba amg # foraem aiee &, B
3N CH amg # o o @ AR #
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Which of the pieces of information given in
the options is additionally required to answer
the following question?

Question:
All the students in a class passed the exam

and each one got a unique rank. Sushma

secured 7th rank and has 4 boys ahead of

her and 9 girls behind her. What is the total
count of students in the class?

(A) Sushma has 2 girls ahead of her

(B) The ratio of the count of girls to that of
boysis2:3

(C) The number of boys is more than the
number of girls in the class

(D) The topper of the class is a girl

Choose the odd one out,
(A) USB
(B) PCU
(C) DAD
(D) RTO

Choose the odd one oul.
(A) Earthquakes

(B) Volcanoes

(C) Tsumami

(D) Global warming

Find the missing term in the following series.
8,24, 48,80,7,168

(A) 148

\) 112

(C) 134
(D) 120

004

Q5

Q6

Q7

e e & 9 24 @ o e
i 3y Ty wgaen @ fve sl @) aifales
9 ¥ IFEgEar s

¥

& e A ol Rgued awivt ge ok
A U agfada Y g @) g
741 ¥ frelt ol S it 4 @ed aen
IS 0 9 wafnadl # | wen o Rgafe
o Je wen e 87

(A) gw & aml 2 wsfad @

(B) c=fral & dEm &1 dsa! 6 wE
Hyua2:38

(C) wedi ) wEar e A Fefeal o
Hem 4 afte 8

(D) T # s ¥ US Al & A

&

frferfaa # 9 arim @1 e S
(A) USB
(B) PCU
(C) DAD
(D) RTO

fr=ifafaa § | s &1 98+ Hifog
(A) P4
(B) Sarcim@l

(C) gl
(D) Taregerdt aramn gfe (ehaw difi)

fFriferfRaa sjaen # gwr wwn s wy |
8,24, 48, 80, 7,168

(A) 148

®) 112

(C) 134
(D) 120
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Q8 Study the following pie chart showing
expenditure distribution of a certain family

and answer the question that follows.

Expanditure Distribution

Medical
(1.

Entertainment
10

If the expenditure budget of the family is

T 18,000 per month, then the monthly

expenses on entertainment, clothing and

transport combined will be.

(A) T 1,800

(B) T3,200

(C) 25,400

(D) 2,800
Q9  Nikhil, who is Raman’s son, says to Esha,
“Your mother, Ria, is the younger sister of
my father, who is the second child of
Suresh.”

How is Suresh related to Esha?
(A) Father
(B) Uncle

(C) Brother
(D) Grandfather

LM-E
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Q8

Q9

Frefafea of o, o & & P
gRar & ara fowor F1 wefifa s g,
IHE AT T2 3N e v g @
e 4 |

uf§ uRaw &1 =3y gare T 18,000 wfivms
B, o wiNo, Suel 3R yRaes 1 wed
UY B aren Wit =g faesn g
(A) T 1,800

(B) ¥3,200

(C) T 5,400

(D) 2,800

fiftre, s 76 v & g3 &, g @ ssa
8, “smuel Hi R, W for 2 o1 awe
&, afie X e, gew & gud wam &

U & fen A Far wHay 27
(A) fen
(B) ==/ s/

(C) =rd

(D) <&
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Q10 Given below are three statements followed Q10 = weF afiw Sud Hafoa 9 e Ry
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by two conclusions. ldentify which v & fafesa & % 9 w1 /9 e
conclusion(s) definitely follow(s) from the Ry mu FeEl @ Aifdea w9 8
given statements disregarding the commonly FN /N B /8, U B 4 WMy E9
known facts. ¥ sa Tt | e Bl

Statements: Gl EH

I.  All computers are laptops.
II. Alllaptops are smartphones.

IIl. Some smartphones are tablets.

Conclusions:

I. Some tablets are computers.

Il. Some smartphones are computers.

(A) Only conclusion | follows.
(B) Only conclusion 11 follows.
(C) Both conclusions 1 and 11 follow,

(D) Neither conclusion I nor 11 follows,

1 W FRger duely #)
. i auei wndw &)
. {F& WCHAE Taele &

e
. TP SHcic TgeN €
1. B WEHH ey &)

(A) daer Frepd | srpawe &var 8

(B) Tact Fremd 11 s #wen 8 |

(C) frepd | 3fR 11 &1 e &
i

(D) = o Fepd 1afiw 71 & Fesd 1)

VT Pl B |
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Q11 Which option follows figure C in the same Qll PR dd s w e fmcw

way as figure B follows figure A? Sl I WHR IERr H oy
— o B, o A 71 srgewr o 27
soff o & 2 -
[T B ic EO | s | OE HH ﬁ ' ?
L] [B) i<}
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=
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(D)
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Q12 Find the odd one out of the below list of Q12 ¥ & F=fofes &=t # | fww &

colours. U= o |
Orange, Violet, Brown, Red, Green, Indigo, TR, &, o, aTe, &, e, dien
Yellow
(A) Y
(A) Orange (B) ¥
(B) Brown (C) 81
(C) Green (D) Hren

(D) Indigo
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Q13 Read the following terms and decide which Q13 Prafafea gei & ud s FeifRa & 6

one does NOT fit in that group $H HYE H @A 9 4T 8|
Average, Range, Mean, Vanance, Standard afraa. gftee aea, g, "EE [dg9daH
Deviation, Mode, Refraction _ qEAD, agad
(A) Mean g (A) AT
(B) Variance (B) SN
(C) Mode (C) agdd
(D) Refraction (D) arreaa

Q14 Study the below statements and choose the Q14 F=faflea sl &) gd 3N FYA] i fgu
correct Venn Diagram depicting the e AEEIRAl #1 wefia s g 344
information in the statements Y B OO & |

1. Some boys cansing |. &P de® My W wEHd 8|
2. Some boys can dance 2. WY ded T W dHa T
3.  Some boys can sing and dance 3. 9 dedh MYH d Tog
SELEE
Sing Dance MOA e
i (A)
Boys i
EECE
MaOA ;F.:[
(B) .
(B)
GLEZ
(©) (C) @
Boys Sing
e
b UIL' G

(D)
@ (D) @

Dance
ii?:f
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A cube is painted yellow on all its surfaces.
Later, the cube is cut into 64 smaller cubes
of equal size. How many of these smaller
cubes will NOT have yellow colour on any
of its surfaces?

(A) 4

(B) 8

(C) 12

(D) 16

Sonam and Sheetal leave the same office
and travel towards their homes. Sonam
travels towards north for 12 km, tumns right
and goes another 5 km to reach her home.
Sheetal travels towards south for 12 km, but
turns left and goes another 15 km to reach
her home. What is the shortest distance
between their homes?

(A) 13km

(B) 17km

(C) 26 km

(D) 34km

QIs

Ql6

U U1 @ |R 68l 3 9| 91 | 9w
R | 99 918, I8 WA # wuH
R ATt 64 BIE =1 F wre faar ma |
¥ W e B wm @ g Ree
fsi o weE ov Grer Al B
(A) 4

(B) 8

(© 12

(D) 16

W iR died v & difew @ faa
B WG T DY AW g & | A
SRR A 3R 12 km w8, 5 Al g
Y 5 km Tl B, 3R 30 ww e ot
8| Mt 12 km a5 2fw #t s o &,
afe @ iR 7 orfl @ afv A w
% UgE @ AT 15 km @ gl ag @)
81 98 Wi B weg =grom g e @7
(A) 13km
(B) 17km
(C) 26km
(D) 34km
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Q17 Below is a statement followed by two

conclusions. Read them carefully and decide
which conclusion(s) logically follow(s) the

statement given,

Statement:

The quality of teachers has deteriorated in
the government schools and parents prefer
to enrol their children in private schools.

Conclusion:

[) Theauthorities must take immediate
action to step up the quality of teachers
in schools.

1) All govemment schools must be either
privatised or closed down completely.

(A) Onlyconclusion | follows.

(B) Only conclusion II follows.

(C) Either conclusion [ or [1 follows.
(D) Neither conclusion I nor 11 follows.

EvSLiviE

10

Q17 i vs e allv 9ud gafda 2 e

fag v &) 9 eregds g o Feifa
N & a1 wr /9 Presd Ry 9v s
& Widd ©I A A0 S/ F
2/81

e

W el 4 R @) qoEen avE
81 74 & 3R sftnmmas o el @1 ol
el 3 wiften e wHg e )

ﬁ'ﬂﬂf:

N wikeiRal & Wl J s $)
T A GaR @ forg onre sdae)
Sl wiey |

1) ot aerd) wagett @ ar o Pl
¢ foan s =ity an gof wu @
dg o fan s wifdg )

(A) aa Fresd | o & §)

(B) daat fysmd 11 arqemor e 2

(C) =1 o Fred 1 Fresd 11 SrgeRe
& #

(D) = o Frend 13w 71 & Frewd 11

FHTEOT Tl B |

SERIES-E-F




QI8

Q19

LM-E

Choose an option that is a valid assumption
for the below statement.

Statement:

Due to the concerns of pollution, the Delhi
government had completely banned the use
of crackers in the last Diwali festival.

(A) The bursting of crackers is considered
to be inauspicious during Diwali
festival.

(B) Citizens love to celebrate Diwali only
with lanterns and not crackers.

(C) Children love to watch movies and play
video games instead of bursting
crackers.

(D) The bursting of crackers further
increases the smoke and hence pollution
levels in the city.

Below is a statement and two courses of
action given. Read the statement and decide
which course(s) of action need(s) to be
followed with regard to the statement given.

Statement:
There has been an increase in the number of
burglary cases last year compared to

previous years.

Courses of Action:

. The police department must step up its
vigil with more policemen on night duty.
The residents must be advised to be
extra cautious with strangers and
deploy security guards and night
watchmen.

1L

(A) OnlyAction | needs to be followed

(B) Only Action Il needs to be followed

(C) BothActions | and Il need to be
followed

(D) Neither Action | nor Action Il needs to

be followed

11

Z¥POZCSLIE

QI8

Q19

94 e @1 ug= fifow o Feafefaa
w1 @ v &g grom 8

LR

fReell TRPR A ugEY & RV Qe
dareht # yerEl @ SudnT g gl witey
GRISEOE

(A) fareh vd & R TSR T A
HAT A B

(B) &1 Pae afeaal | Sarel w= 0
wed & 7 & erdE ||

(C) = TeId W & qud A TE
q difsar M Sa THE T 8

(D) 9erd S ¥ goif 9w & fored
TEY H Wgun @ W A gig § ol
L4

ts weud sty wwas e wl
frmfafet <t 18 €1 o @ g ol
a7+ & [ R T e & ded | @
W frfafey / frnfafet & aem &
ey |

Y
fiod of @ g § TE af 99 B
R # gfE &2 2

franfaferat:

. Yo e & wa @ 9y R
e ¥ yferaaral & a9 &
et g =ifeg |

Frafal &1 were & @+ @iy 6
¥ sofagt @ e sfafes amearh
T Al gean mE o APER @
e B

(A) Faa frmfaf | =1 sem T ity

(B) @aw fFfaf Il &1 wres Fen =iy

(C) =1 frafafeat 13iR 11 wreA
T ARy

(D) = ot Eranfafy 1afx = & frfaf 1

P I HYAT TIfBT
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Select the option that is related to the third
term in the same way as second term is
related to the first term.

Fumniture : Plywood :: Flooring : 7
(A) Walls

(B) Tikes

(C) Mattress

(D) Slippers

Select the option that is related to the third
term in the same way as second term is
related to the first term.

Cricket : Umpire :: Football : 7
{A) Commander

(B) Whistle Blower

(C) Referee

(D) Arbiter

Inacertain coded language, if “WAITER'is
written as "XQCCLQ' and ‘ARTIST" is
written as *BSTQWF", then how would the
word ‘BEGGAR" be written in that
language?

(A) COEXJD

(B) CQGYID

(C) CSGCH

(D) CQFZHF

Ina certain coded language, if *'SUMMER"
iswrittenas *S2IMI13E18’ and ‘“WINTER’
is written as *W9N20E | 8°, then how would
the word *AUTUMN?" be written in that
language?

(A) A2IT2INI3

(B) A20U21M14

(C) AZIT2IMI4

(D) A21U20N13

CrIEgOE

Q20 3% fawen w1 gg= Hifow A e 1=

AdrsfioE Aot v mE 9
THU I UEA ¥eE ¥ Hafew g

AN : RS ¢ T : ?
(A) dfcH
(B) TrEed
(C) A
(D) fud

39 faTa &1 9g= Hfswe o fa 1=
W & o+ ove | wafua & e ave |
THY IR UEd e 9 wafoe #)

fipde : afuraw - Hedrd ;7
(A) TS

(B) ﬂi’?ﬁ'\' (Whistle Blower)
(C) Y&

(D) anfdex

us fAfdaa &e wm d afd *WAITER®
$l ‘XQCCLQ' fawn s # 3w
*ARTIST" &1 ‘BSTQWF" foran o 2,
Tl SHI T W § ‘BEGGAR' & &1
ferar amem?

(A) COEXID

(B) CQGYID

(C) CSGCl

(D) CQFZHF

v fftaa @ wmn ¥, aft ‘SUMMER'
H ‘S2IMI3EIS’ foran wirem & aiw
‘WINTER' & *“WON20E | 8" ferar aman
g, o ¥t @ W A CAUTUMN' &
a1 fer@r wmem?
(A) A2IT2INI3
(B) A20U2IM14
(C) A21T2IMI4
(D) A21U20N13
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Pointing at a portrait on the wall, Madan said,
“That lady was the mother of the daughter
of the son-in-law of the father-in-law of the
mother of my son.” How is Madan related
to that lady in the portrait?

(A) Father

(B) Son

(C) Brother

(D) Father-in-law

Given below are four statements followed
by four conclusions. ldentify which
conclusion(s) definitely follow(s) from the
given four statements disregarding the

commonly known facts.

Statements:

1. Allboys can play
2. Some girls cansing %
3. Allgirls can cook &
4, No boy can sew

Conclusions:

1) Nogirlcan play

i) Al girls can sew

) Some cook are girls

IV) Boys who can play cannot sew

(A) Only conclusion Il follows.

(B) Only conclusions I11 and 1V follow.
(C) Only conclusions Il and I1I follow.
(D) Only conclusions | and IV follow.

13

Q24

Q25

et 4 AR & e R @ AR
§YINT YD He1, “T€ Afgon W qF A ol
B WL D aoAg A A A H | Em
@1 oW fora areh wfear | o way 87
(A) foren
(B) #eT
(C) T
(D) WR

v 8 faftsa X % 9 W/ Fred
fay 7y weEl &1 fAf¥Ea w9 |/ agEw
/T B /8w € A A v A
g et | B g

e

. i TP Wel W B

2. @Y dsfedl Tad @ add @

3. ot iRt sire g aad

4. @ N Few R T8 o wsm
#

(B E

) o TS G 6 wHa 8

i) wh i faE & 9 &

Iy #e aad Fefeyl &

V) it ded @erd & 4 frang =181 aw
a8

(A) @aet Frepd 111 srgeeor avan )

(B) @act frspd 1113k 1V 3R &
Bl

(C) wae Fsmd 11 3R 111 sravyr v
gl

(D) #ae Fresd 13RIV Igaewr &
g
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Q26

Q27

Q28

SECTION-2 | GENERAL KNOWLEDGE | 50 QUESTIONS

Which fruit was adopted in 1950 as the
*national fruit’ of India?

(A) Apple

(B) Mango

(C) Grapes

(D) Banana

India’s Accord Group and Oman’s Ministry
of Oil and Gas have signed a $3.85 billion
deal to build an oil refinery in which of these
countries?

(A) Afghanistan

(B) Bhutan

(C) SriLanka

(D) Nepal

The dolls made out of this string puppet art
form of Rajasthan recently won the
Geographic Indication (GI) tag. By which
name are these dolls known?

(A) Channapatna Dolls

(B) Kondapalli Dolls

(C) Kathputli Dolls

(D) KhurjaDolls

JTS0A54Z

14

Q26

Q27

Q28

a4 1950 %, Fr=farfem & @ 5w oa &1
ARG & S Bel' & HY H agemar aa
17

(A) ¥

(B) s

(C) IR

(D) @em

Ra @ IFiE U AR iwmF @ ad o
Ao A FPrefefia 4 @ e 2w 4
do Remgd 7 & forg $3.85 Rt
@ Wws W EwRR fey #7

(A) BRI

(B) €M

(C) #idsn

(D) 9T

I W U g sogad s |
i a7 s @ e dWea
(GD 2w o &) as Ry Prefafaa
fa am & orf ol &7

(A) F=19e qfear

(B) Bremed 1w

(C) wogeeh T

©) gt af
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Q29

Q30

Q31
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Lakshmi Vilas Bank (LVB), a 93-vear-old
bank from Tamil Nadu, merged with a
financial entity from Mumbai. Name the
entity,

(A) HDFC Bank

(B) Indiabulls Housing Finance

(C) Dewan Housing

(D) Reliance Home Finance

Name the country that conferred its highest
civil award, the Zayed Medal, on Indian
Prime Minister Narendra Modi in April 2019.
(A) Iran

(B) Afghanistan

(C) United Arab Emirates

(D) Malaysia

Vidarbha won the 2018-19 Ranji Trophy
tournament. Which team did it defeat in the
finals at Nagpur in February 20197

(A) TamilNadu

(B) Saurashtra

(C) Mumbai

(D) Karmataka

15

Q29

Q30

Q31

ot e % (LvB), afasg =1
93 ity ¥, ¢ o1 vz el god @
e faera g3 | 39 T8 &1 AW @l
.14

(A) vESIgHH 4

(B) ¥fSUrgew ETSRT wrgie

(C) Dar sl

(D) Rafaa W wE-a

a8 @ W 4w & o sl 2019 4
TR WA R IS @1 3 waten
ARE qPR, I19% Uge 9 @i
fasar?

(A) $w=

(B) srmmiaw=

(C) %y 3w 3¢ (UAE)

©) weifirar

fet 3 2018-19 ok givh At ol
HAd 2019 % AR H HIgAe A 6
frafafeaa # 9 5w €m & s
(A) afferrg
(B) ¥
(©) Hod
(D) Tle®
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Q34

Whao is the Director of Tata Institute of

Fundamental Research (TIFR), a premier
research institute of India located in Mumbai,
as of March 20197

(A) KN Vyas

(B) Shalini Bhatt

(C) Rakesh Bhatnagar

(D) Sandip P Trivedi

The new year for both Andhra Pradesh and
Maharashtra starts in the Hindu month of
Chaitra. In Andhra, it is referred to as Ugadi.
How is it referred to as in Maharashtra?
(A) Lawni

(B) Baisakhi

(C) GudiPadwa

(D) BhauBeej

Pandit Madan Mohan Malviya’s grandson,

Justice Girdhar Malviya, has recently been

appointed as the Chancellor of which famous

university/institution?

(A) Sharda University

(B) Banaras Hindu University

(C) Mahatma Jyotiba Phule Rohilkhand
University

(D) Chhatrapati Shahu Ji Maharaj
University
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Q32

Q33

Q34

#2019 0@ ITAE TSN B ITAR,
Hag W Rua wva @ Wi Wy HwE,
TET o ITHU I (TIFR) &
fews o &7

(A) HUA. =

(B) wnfert wg

(C) BT 9=

(D) wEm 4. FRd

3 yow 3R wERNg 2 @ far A
el o3 WA A e g ) s i g9
I @1 o &1 59 wEng d
am § wefifa fear wmen 82

(A) madh

(B) dwmed

(C) TS g&ar

(D) w% @

ufea w2 Wie wioda @ O, sl

firer wwda, sa & 4 fow ofeg

frmfagaraa /dvwmm @ safeufy

(aterer) & wu A Frgaa R T #2

(A) e favafagamey

(B) T fiq Rvafiguey

(C) werem wiftar g wRewve
Rrafagaea

(D) s=ufa g & wewrw Rvafigaeg
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(035 The GuruAngad Dev Veterinary and Animal
Sciences University is located in which city
of Punjab?

(A) Patiala

(B) Ludhiana
(C) Amitsar
(D) Chandigarh

Q36 The form of farming in which nearly all of

the crops or livestock raised are used to

sustain the farmer and his family is
traditionally known by which name?

(A) Subsistence Farming

(B) Minimalism Farming

(C) QuotaFarming

(D) Institutional Farming

Q37 Whichofthese is NOT an edible plantation
crop?

(A) Cocoa

(B) Arecanut

(C) Rubber

(D) Tea

LM-E

7

Q35

Q36

Q37

T% aiTe da vy fafde e oy fasm
Rvafigarem dom & 5 e # Rea
87

(A) ufearen

(B) g

(C) srjawr

(D) =SrTe

Wl @1 98 w9 forad e ol e
@ gRar & frafE & fow e wh
HHe IE SR & AT wgarer fhg o
g of unoRe w9 9 feg Am & o
W 87

(A) “hfawr i

B) fmfere o

(C) T &l

(D) HEIFTT el

fr=feftaa # @ @ w1 va wga o
wHe TE &7

(A) B

(B) gurd

(C) @™

(D) =g

JBTH4E00

EIFE
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Q38

Q39

Q40

LM-E

In the computer terminology, what is the full
form of PDF?

(A) Printable Document Format

(B) Print Dispatched File

(C) Protocol Disk File

(D) Portable Document Format

In which city of Uttar Pradesh would you
find the following majestic Ghats: Assi Ghat,
Manikamika Ghat and Harishchandra Ghat?
(A) Kanpur

(B) Varanasi

(C) Prayagraj

(D) Ghazipur

PECTrLLE

Q38

Q39

The famous Iron Pillar of Delhi, which has Q40

withstood centuries of exposure Lo nature
without any rusting, is housed within which
of these historic complexes?

(A) JamaMasjid Complex

(B) Red Fort Complex

(C) QutbMinar Complex

(D) Humayun's Tomb Complex
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ey v@me #, PDF &1 i &9 &
22

(A) firtaw Sfagie wiite

(B) fie fewles wEgd

(C) werta 3w wga

(D) Wéan Srapie wile

Teere e o fare e ¥ amuent Pl
o wre el ared wre, it
wre aiv gRwdy ue?

(A) FFR

(B) arTHl

(C) waTRI

(D) TR
feech &1 wftg s wn1 oft widal &

fa o ot wer 8, aw Frwfofea 7 4
fare e ofte 3 fem 27

(C) waa MR uler
(D) &Y & wapan @1 RN
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Q41 The Ukai Dam is in which state of India? It is

Q42

Q43

the second largest dam of that state.
(A) Gujarat

(B) Telangana
(C) Odisha

(D) Maharashtra

‘Bahujana-hitiya bahujana-sukhdya’ is the
Sanskrit-based motto of which of these
(A) Doordarshan

(B) Banaras Hindu University

(C) AllindiaRadio

(D) Indian Meteorological Department

For helping farmers discover a better pricing
for their coffee, the Coffee Board has come
up with which of these innovative
marketplace apps?

(A) Coffee Blockchain

(B) Coffee Cloud

(C) Coffee Connect

(D) Coffee Choupal

Q41

(=

2042
§

Q43

54

@ A wwa @ Peafafea 4 | faa
W A 87 98 99 U & TEY WA
q5 4 B
(A) ToRT
(B) e
(C) sifam
(D) #Er

- T age-gan P
iR Rw wy W @ e
amnfYa amevd-—amg &2

(A) geee

(B) @ fég Reafagaem

(C) ifer R e

(D) W Hem Rsr R

e ) ot Bt & fog dEew =
fFrefeer % weg ov @ fog, @ @ 3
fr=fafta % @ 5 7d= aie dw
@ oo ot &7

(A) BT wfteme

(B) &I} FeIras

(C) @i F e

(D) it e

SERIES-E-F



Q44 Name the state that has launched a

Q45

Q46

LM-E

commission called PRANAM Commission
to specifically look into the responsibility of
elderly parents of government employees.
(A) Assam

(B) Odisha

(C) Tamil Nadu

(D) Rajasthan

Where is the head office of the Tea Board of
India?

(A) Danecling

(B) New Delhi

(C) Kolkata

(D) Kochi

When you open a new Excel workbook, how
many worksheets is/are present by default
at the time of opening?

(A) One

(B) Three

(C) Five

(D) Seven
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Q44

Q45

Q46

frefofaa e wow # Ry w0 |
e HHAREl B ga wa- @
Ryl o s 39 @ fau PRANAM
WRINT S U@ AT B Yo
27

(A) e

(B) ifem

(C) ey

(D) =

& 91$ aifp T @1y wwEted wel
R fRe 287

(A) =fiferm

(B) ¢ feeedt

(C) SIereren

(D) wifea

W4 A9 UH T8 Excel 90gS Wiew! €, Al
wdiert & W feiee wa ¥ fserd a@die
Bt &7
(A) =
B) T
(C) uim

(D) W
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Q47

Q49

LM-E

Photoshop is a software program that is
extensively used for image editing, graphic
design and digital art. The company that has
the selling rights of this software is:

(A) Microsoft Corporation

(B) Apple Inc.

(C) Oracle Corporation

(D) Adobe Inc.

EdgeVerve Systems is a wholly owned
subsidiary of which of these Indian IT
companies?

(A) Wipro

() Infosys

(C) HCL

(D) TCS

Which of these countries shares an
international border with the state of Uttar
Pradesh?

(A) China

(B) Nepal

(C) Bhutan

(D) Bangladesh

35504508

Q47

Q48

Q49

Photoshop U@ UHI wivedar wm 2
3k fEfeq o & foy 92 M W
feran wren & | FrafefRaa 4 9 e o
& U 39 HiTedIR $ v o dfRen
87

(A) Microsoft Corporation

(B) Apple Inc.

(C) Oracle Corporation
(D) Adobe Inc.

EdgeVerve Systems fFrifeifee fse weiia
IT @ & 9ot i arelt wemas S
2?

(A) Wipro

(B) Infosys

(C) HCL

(D) TCS

frafafaa 4 9 @9 w1 <0 oaR wdw
U D AR (b RS e A
Har 8?

(A) 99

(B) el

(C)

(D) FiRY
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Q50 Which among these districts of Uttar

Q51

Q52

LM-E

Pradesh is completely surrounded by other
districts of Uttar Pradesh (i.e., does NOT
share a boundary with any other adjacent
state or country)?

(A) Saharanpur

(B) Deoria

(C) Hardoi

(D) Lalitpur

Veteran superstar Amitabh Bachchan hails
from which city of Uttar Pradesh?

(A) Prayagraj(Allahabad)

(B) Kanpur

(C) Meerut

(D) Agra

The famous Bankey Bihari Temple is located
in which town of Uttar Pradesh?

(A) Samath

(B) Varanasi

(C) Vrindavan

(D) Agra

ITH54558
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Q50

Q51

Q52

TR yew &1 Fefaiaa § 9 #F ow
forem 39 wow & o=y foret 9 fomr gan
2 (@rh, el o og v @ dw @ WM
AT e AE e 8) ?

(A) WERAYY

(B) wafan

(C) &¥ar

(D) wifergR

I YUREER HFANT Fea S UeY
@ fe e ¥ &7
(A) VIR (geiTemare)

(B) SR
(C) o

(D) 3Ry

wftig ot faerd #fiy oww wdw & 5w
ey ¥ fem &7

(A) TR

(B) aroRh

(©) gamA
(D) ST
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Q53

Q54

Q55

Which of these is the state animal of Uttar
Pradesh?

(A) Red Panda

(B) Swamp Deer

(C) Indian Bison

(D) Water Buffalo

The city of Saharanpur of Uttar Pradesh is
globally famous for which of these arts and
crafts?

(A) Bangle making

(B) Perfumesand Scents

(C) Wood carving

(D) Carpetmaking

In which town of Uttar Pradesh would you
find the Central Avian Research Institute
(CARI)?

(A) Agra

(B) Barcilly

(C) Lucknow

(D) Kanpur

LM-E

Q53

Q54

Q55

371 34508

a3

frfefeg & & @59 @ 9er w2w &
IRy gy B?

(A) &S 9TST (Red Panda)

(B) aRBRTT (Swamp Deer)

(C) AR Sirett 7R (Indian Bison)
(D) STl ¥4 (Water Buffalo)

UE USY & WERAYR vew e
5w wen iR firew @ Ry Re-ufag
87

(A) 9fedt @

(B) ¥4 aik g

(C) &SI TR AAamrsht

(D) oAl &1

FI GER THI WM (CARI) S
wou & o wew f e 87

(A) IFRT

(B) =it

(C) wETa

(D) R
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Q56 The state of Awadh (also called Oudh) was

Q57

Q58

LM-E

ruled by Muslim rulers from 1722 to 1856.
What was the title that the rulers adopted
while ruling Awadh?

(A) Sultan

(B) Badshah

(C) MNawab

(D) Sahib

The famous Alai Darwaza, built by Alauddin
Khilji, is located at:

(A) Agra

(B) New Delhi

(C) Awadh

(D) Warangal

The historic town of Srirangapatna, home to
the tombs of Tipu Sultan and his father Hyder
Ali, isabout 15 km from which of these cities?
(A) Bengaluru

(B) Mangaluru

(C) Mysuru

(D) Belgaum

Q56

Q57

Q58

oy W (R afer +ff oeT o 8) W
17229 1856 T Uite wraa! &1 e
o7 | A UY AT HRG HHY SRDT A
frafafaa & @ 19 0 S g o
(A) Year

(B) areumE

(C) e

(D) wifEq

et Reaeroll gamn g+ mar T uftg
TS Svaral Hel w Re 87

(A) JTTRT

B) ¥ faech

(C) 3@y

(D) R

ANugsE &1 Ufoeias wee BN dg
e IR SuS e ¥ o B wa
@1 W A1 o &, 98 Fefafaa e
e | T 15 km 3 g8 = R 87
(A) FTgo
®) #rge

(C)
(D) F7TH
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Q59  Which of these organisations was founded ﬂ Q59 Wl e {0, e ik Rmnfag

LM-E

by veteran freedom fighter, writer and
educationist KM Munshi?

(A) Theosophical Society

(B) Bharatiya Vidya Bhavan

(C) Indian Statistical Institute

(D) Indian School of Mines

The world would specifically associate the
word ‘holocaust’” with which of these
countries?

(A) Germany

(B) Egypt

(C) China

(D) Mexico

During the Mughal administration, what was
the exact role of a ‘Kotwal’?

(A) Leading the army for battle

(B) Maintaining the treasury

(C) Collecting revenue

(D) Maintaining law and order
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Q60

Q61

B, 5o A Freafefea 4 § fra wrew
@ weraET Y of)?

(A) Ffrefsea dmed

(B) Wi fagar wa=

(C) wreia wifter e

(D) 5T e e wgw

™ R dewie v o Ry sy @
Frafafea 5 39 @ wm deex 2@m
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(A) it

(B)

(C) =

(D) Afrr

i we & IR, U P @)
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(B) D BT AT &

(C) WGrE Ui &er

(D) W v arawen &m0 Y@
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Q62 The Child Marriage Restraint Act, 1929, is

LM-E

popularly known by which other name?
(A) SardaAct

(B) Vijayalakshmi PunditAct

(C) NaiduAct

(D) MNanavati Act

In which city did Swami Dayananda
Saraswati first establish the Arya Samaj in
the year 18757

{A) Bombay (now Mumbai)

(B) Ahmedabad

(C) Pune

(D) Calcutta (now Kolkata)

Megasthenes, the author of the famed treatise
about India called Indica, originally belonged
to which country?

(A) Portugal

(B) Greece

(C) Egypt

(D) Turkey

IT 104558
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Q62 ad fam wawm afafram, 1929 &
fr=fafes g a=n am 4 N SF

e 87

(A) Twer arfafm

B) Awaash ufda afafam
(C) =g afafHam

(D) rEe) srfafaam

W@ TaFe v A e e 4 ued
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Q65 Inwhich town of Uttar Pradesh wouldyou Q65 1441 wiamedt %t wftrg wiftors g veran

Q67

LM-E

find the 14* century mosque called as the
Atala Masjid (or Atala Mosque)?

(A) Ayyubganj

(B) Haidergarh

(C) Jaunpur

(D) Fatehpur

The Greenwich Mean Time (GMT) marks
the starting of time zones in the globe, and
the time in any country is a measure of number
of hours that country’s time is ahead or
behind GMT. This town of Greenwich is
located near:

(A) London

(B) Amsterdam

(C) Chicago

(D) New York

The Cholanaikkans, Kurumbas,
Kattunaikans, Kadars and Koragas are
primitive tribal groups of which part of India?
(A) Andhra Pradesh

(B) Andaman and Nicobar Islands

(C) Kerala

(D) Odisha

27
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Q67

AAE (@1 Atala Mosque) @&1 aimer &
UER WRW & 5w wew i Rew 27
(A) s

(B) ¥y

(C) fegR

(D) HEYR
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(A) @gm
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(C) Rt

(D) =pta
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Q68 Hero Cycles is one of the largest cycle Q68 &R wisfa gfvan @ wad a3 wEfda

manufacturers in the world. In which city did Prfarsli # & va &1 1956 % IR ggch
they first set up shop way back in 19567 TR | wex # S gET @ wneE S
(A) Ludhiana, Punjab of1?

(B) Chennai, Tamil Nadu (A) g, Yo

(C) Sonipat, Haryana (B) ¥=18, afferg

(D) Kolkata, West Bengal (C) Wi, sfRamn

(D) S, gf¥eas dre

069 Inwhichcityoftheworldwouldyoufindthe Q69 Fa R TR fwa & fbw wev &

Trafalgar Square? e 87
(A) Beijing (A) @
(B) London (B) @&
(C) New York § (C) =i
(D) Paris (D) 9w

Q70 The ‘Writer’s Building’ is the secretariat Q70 geH Rt wra 9 e vsu ¥¥aR

building of which state govenment of India? &1 afaag s &7
(A) TelanganaGovernment (A) TATAT TN

(B) Kamataka Government (B) FHlcd WHR

(C) West Bengal Government (C) uf¥es FTd |wEHR
(D) Gujarat Government (D) T[OIE IR
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Q71

Q72

Q73

LM-E

The city of Vijayawada in Andhra Pradesh
is located on the banks of which river?

(A) Cauvery

(B) Godavari

(C) Mahanadi

(D) Knshna

What is the capital of Azerbaijan, a country
that was once a part of the Soviet Union
(USSR)?

(A) Ulaanbaatar

(B) Kiev

(C) Baku

(D) Tashkent

Which of these four awards is presented by
the King of Norway and is often referred to
as the Nobel Prize of Mathematics?

(A) Fields Medal

(B) Abel Prize

(C) WolfPrize

(D) Chem Medal

Q71

Q72

Q73

g wew 1 forgarer wet fvw o) @
faeme frery 82

(A) D

(B) W

(C) wErFA

(D) Fwm

SRS St R wWidaa W (USSR)
@1 U@ frewn o, Prafefaa 4 @ @ &
TSI Ao 87

(A) SAFEER

(B) o

(€) ag

(D) TP
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(A) WieEw W

(B) wae wigw

(C) I&F wE

D) o e
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Q74

Q75

LM-E

What is the official term of the office of a
Governor of a state in India?

(A) 3years

(B) 4 years

(C) 5 years

(D) 6years

What is the colour of the Ashoka Chakra in
the Indian tricolour (Tiranga) flag?

(A) Purple

(B) Magenta

(C) NavyBlue

(D) Black

Jo

Q74 WA @ fRll o @ USOTE @ 9E @0

Q75

aftmRe e B R & 8
27

(A) 3ad

(B) 44

(C) s5ad

D) 6ad
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(A) =i

(B) wwiel

(C) & el

(D) @rer

SERIES-E-F




Q76

Q77

Q78

SECTION-3| GENERALSCIENCE /ARITHMETIC | 50 QUESTIONS

The salaries of Arjun, Vikram and Vijay are
intheratio 2 : 3 : 5. If increments of 1 5%,
10% and 20% are allowed respectively in
their salaries, then what will be the new ratio
of their salaries?

(A) 3:6:10

(B) 23:33:60

(C) 21:03:60

(D) 23:35:60

Express the following as a decimal.
0.001%

(A) |

(B) 0.001

(C) 0.0001

(1) 0.00001

A and B together can complete a piece of
work in 6 days. If A alone can complete the
same work in 10 days, then in how many
days can B alone complete that work?

(A) 12 days

(B) 13days

(C) 14days

(D) 15days

Monish can cover a certain distance in | hour
24 minutes by covering two-third of the
distance at 4 km/h and the rest at 5 km/h.
The total distance is:

(A) 6km

(B) 6.5km

(C) 8km

(D) 10km

LM-E

s

E Q17
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Q78

Q79

af, A ol Rem w1 a9 2:3: 5%
yuE # 8) afd w59 d9w A @Ew
15%, 10% 3R 20% & o= g o
el &) ol 8, o S9@ AY A @
T @1 B

(A) 3:6:10

(B) 23:33:60

(C) 21:03:60

(D) 23:35:60

Frafafam &) samea 4 e o9
0.001%

(A) |

(B) 0.001

(C) 0.0001

(D) 0.00001

A 3t B fiaaw faelt &m &1 6 fael 4
W W HEA 8| Afe A I@en o I
1 10 = 9 g # waan &, o B wden
a0 am ) o R 9 g v wwm
8?

(A) 12f=

B) 13f=

(€) 14f&=

D) 15

Mfe va Pt gft & S-fed wm
@1 4 kmvh ofiR 919 91 B S kvh A1 71
W 1 62 24 Byee § 97 & wEar @ | [
0w

(A) 6km

(B) 6.5km

(C) 8km

(D) 10km
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Q80

Q81

Q82

Q83

LM-E

A man, a woman and a boy can complete a
job in 2, 3 and 6 days respectively. How
many boys must assist | man and | woman
to complete the job in half a day?

(A) 5

(B) 6

(C) 7

(D) 10

The radii of two right circular cylinders A
and B are in the ratio 5 : 2 and their heights
are in the ratio 7 : 5. What is the ratio of the
curved surface areas of A and B?

(A) 2:7

(B) 7:2

(C) 2:5

D) 5:2

Iftoday is Saturday, after 71 days, it will be:
(A) Monday

(B) Friday

(C) Saturday

(D) Sunday

Ina A ABC,AB=6cmand AD isthe angle
bisectorof £ A.IfBD:DC=3:2, then
AC will be equal to:

(A) lem

(B) 1.5cm

(C) 2em

(D) 4cm
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Q80

QB8l1

Q82

Q83

ya ), U sfiee ok v cedt )
HM B B 2,3 3R 6 faAT 7 g W
wad &) oW @ I R F g aa @
forw 1 s afie | wften A wEEa &
forg fvam wsel @t werar wfRy?
(A) 5

(B) 6

©) 7

D) 10

<1 & gl A (right circular cylinders)
A3 B FBe 5:2@ srqun | aiv
SAE! dargdl 7: 5 arqura 7 &) Asiw
B® 9% Y@ & &FA%Bal (curved surface
areas) &1 H[UTA §IA N |

(A) 2:7

B) 7:2

(C) 2:5

(D) 5:2

af2 s AR &, a1 71 B9 @ T, &=
Brm?

(A) HPER

(B) wwar

(C) wfar

(D) R

AABCH AB=6cm 3R £A® T
aHfgwo® (angle bisector) AD & | af2
BD:DC=3:28 @ AC & oF &
BIIT?

(A) lem

(B) 1.5em

{C) 2em

(D) 4em
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Q84

Q86

QB7

LM-E

If x* +~|—J =23, and x > 0, then the value
X

l .
of x+— js:
b

(A) 1
B) 2
(C) 5
D) 6

Solve the following,

(cos® @—1)(cot® O + D+l1=7
(A) -1

(B) 0

(C) 1

(D) 2

If*t" is the standard deviation of a, band c,
then the standard deviation of a + 6,b+6
and ¢ + 6 will be;

(A) t

(B) t+6

(C) at+b+c¢

(D) 6t

If @and Fare the roots of
ar’ + bx + ¢=0, then one of the quadratic

| ]
equations whose roots are = and E will

be:

(A) ad +bx+¢c=0
B) X¥*+ax+e=0
C)exr+ax+b=0
D)ex+bx+a=0

512642
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afe .t;+—1:-:"3 Mx>08 @ .1'+l$‘[
x

X
HH 1 e
(A) 1
B) 2
(C) 5
(D) 6

Frafoafaa ) ga =)
(cos’ @—I)cot’ @+ 1)+1=2
(A) -1

B) 0

©) 1

(D) 2

a2 a, b3 ¢ &1 7FF fges ¢ & )
a+6,b+63M c+ 6% 995 Aae a7
Brm?

(A) 1t

(B) 1+6

(C) a+b+e¢

(D) 6t

ﬂfﬁ'ax"+bx+c=ﬂiﬂ‘3§1a v g &
ﬁmﬂmﬁﬁﬁﬂﬁmﬁﬂ

|
aim-ﬁt,ﬁwfhfaﬂ#ﬂaﬁam

BIT?

(A) al + bx+¢c=0
B) b +ax+¢c=0
C) e’ +ax+ b=0
D) ex*+bx+a=0
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Q89

LM-E

Let a be a prime and b be a composite
number such that a + b = 240.Also, the
LCM of a and b is 4199. Then a and b
respectively are:

(A) 23,217

(B) 17,233

(C) 19,221

(D) 13,227

Out of the following numbers, a terminating
(A)
(B)
©

(D)

Wk = = 3|w

Tap A can fill atank in 18 minutes, B in 36
minutes and C in 54 minutes, Tap A was
opened; 1 minute after that, tap B was
opened; and 4 minutes after that, tap C was
opened. The time required (in minutes) to fill
the tank was:

(A) 9

(B) 1l

(C) 6

D) 8

The ratio of present ages of Reemu and Alka
is 3 : 2. 20 years ago, which of the following
CANNOT be the ratio of their ages?

(A) 17:10

(B) 8:5

(€) 7:5

(D) 9:5

v ]

el
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Q88

Q89

A o a U awren Her £ Al b U
W G EFATE P a+ b=2400
T & | gHS AT o IR b HT TG
TTad® 4199 8| @1 o 3R b T AW
CieSn i
(A) 23,217
B) 17,233
(C) 19,221
(D) 13,227

frafafaa deel 4 4 ¥ swad
P A R?

(A)
(B)
(©)

D)

W b= = 3w

aa A fd 2af 7 18 fAme 9 W awa
2 B=d 36 fFe A sl C, 54 fre AR
HHar & | 9 A @i T 9us | e
qre. a0 B @ier 1 v gus 4 e
qE, T C @A AT | D DO B
forg smavas W (fee #) R @m?
(A) 9
B) 11
(©) 6
D) 8

%Q';l 7 R et &) TdAE A BT IR

3:2%) 207 yea, Frmfafta 3 & 3
| S WY B I G B HHal
2?7
(A) 17:10
®) 8:5
(C) 7:5
D) 9:5
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Q93

Q%4

Q95

LM-E

Ram is twice as good a workman as Rahim.
Ram takes 6 days to complete the work.
Rahim will complete the same work in:

(A) 6

(B) 3

(C) 12

(D) 9

: 3 ; .
If sma-cma:g, then sinacosa is

equal to;
1.4
25
16
25
—
25
9
16

(A)
(B)

(€)
(D)

When the number & is increased by 20% and
then reduced by 20, we get 160. If the
number e is reduced by 20% and increased
by 20, we will get:

(A) 144

(B) 140

(C) 152

(D) 148

While selling 5 m of a cloth, profit made is
equal to the cost price of 2 m of that cloth.
The profit percentage is:

(A) 40%

(B) 30%

(C) 45%

1
(D) 33'3-%

IET IR
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Q92 M W Frdervar W & wrlsr @
S & | ¥ e o @ 6 e o g
ol 8| v o ol @Y e R A
T BYA?

(A) 6

Q93

Q%4

Q95

B) 3
© 12
D) 9

afz sina—cosa:%%_ a1 sinacosa

& WH T B

(A) 25

(B)
©

(D)

UE UF we a ¥ 20% gfy o @ aiw
e 7% 20 @9 &Y wireht &, o &9 160 wre
BT 8| afy Wemad 20% wd el 2
3N 209 gfy o B & B @ u
Br?

(A) 144

(B) 140

(C) 152

(D) 148

5 mFYST 49 & IR, sfola @nr oy
TS D 2m D BY God B aOA Ben &)
FfSta am ufrer s/ =¥

(A) 40%

(B) 30%

(C) 45%

D) 33%%
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097

Q98

099

Q100
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What is the name of the reserach station set
up by India in Antarctica in the year 20157
(A) Dhruva

(B) Hind

(C) Sagarika

(D) Bharati

Which of the following institutes was the first
to be established as 11T (Indian Institute of
Technology)?

(A) T Kanpur

(B) NT Bombay

(C) NIT Kharagpur

(D) 1T Madras

How many years of orbiting Mars planet
were completed in September 2018 by the
Mars Orbiter Mission launched by ISRO?
{(A) 4 vears
(B) §years
(C) 6years
(D) 7 years

In the water cycle, clouds are formed by
the process of:

(A) evaporation

(B) condensation

(C) decomposition

(D) meling

Which of the following isa sign of deficiency
of vitamin C?

(A) Bleeding gums

(B) Protruding belly

(C) Nightblindness

(D) Stomach ache

36
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Q96

Q97

Q98

Q99

af 2015 & WA FAN Je@ieat 7w
T R B AW §7

(A) g

(B) fa==

(C) |

(D) W

Prefafiaa % @ fFa dws = 92w 1T
(e thehfrah wwer=) & &4 5w
famam Tran wn?

(A) NIT &R

(B) UT4ha

(C) T @ETR

(D) UT #&TH

@ (ISRO) a1 waifte #ri affdes
fiyert @ wmam 4 ficay 2018 % #7a ¥
£ gt fsa ant § g @ 797
(A) 4ad

(B) sad

(C) 6ad

(D) 7t

oIt T W, areat & moa Frafaftea i
4 fra uftsar gam g 87

(A) AT

(B) WO

(C) HTEE

(D) TAAS

Qtﬂﬂﬁwﬁiﬁﬂﬁﬁﬁrﬁﬂmﬁaﬁﬁtaﬁ

A T AR B?

(A) 7@ 9 g Fean
(B) U WY AT

(C) wefieh

(D) Ye % 75
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Q102

Q103

Q104

Q105

Who among the following are at higher risk
for anaemia?

(A) Old persons

(B) Children

(C) Pregnant women

(D) Animals

Which of the following animals can spread
rabies?

(A) Lizard

(B) Squirrel

(C) Pigeon

(D) Dog

Which of the following are an example of
surface water resource?

(A) Lakes

(B) Wells

(C) Oceans

(D) Tankers

Which of these is an inner planet or a
terrestrial planet in our solar system?

(A) Satumn

(B) Jupiter

(C) Mars

(D) Uranus

Fuse protects an electric circuit from:

(A) overloading

(B) converting one form of energy into
other

(C) camying current

(D) inducing current

LM-E

“J Q101 Fwiferftra & @ fas oifrr 819 @

2
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o A gar 27
(A) 3@ a@fe

(B) 7=

(C) miad ke
(D) GFTEe

Q102 fFrafefer # & &/ w wmay W

BT HaHo 87
(A) fouaeh
(B) fraed
(C) T
(D) FEm

Q103 F=fafaa 4 4 9 w1 war w o

HEEA & (F ISEI0 27
(A) #a
(B) ;am

(C) ¥
(D) @

Q104 F=fafa % | #%9 wr s o viza

&1 UE AeReE us ar uifthy uw &7
(A)

(B) gswaiay

(C) #ra

(D) 3w 1w

Q105 W@, & fagye wRuy (safaes ufie)

@1 yeen Prefoftra 3§ 9 fvas) s &2
(A) sferamor (afavenfam)

(B) &4l & (& wU & @t A yRad
(C) °ry uitae=

(D) € Seoy
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Q106 Which instrument is used to detect the Q106 Wi i fagye @ sufefd @1 e &

presence of current in a circuit? & fore Preafafaa § @ 5w Sua &
(A) Ammeter gy far oen 87
(B) Voltmeter (A) Tiren
(C) Rheostat (B) ae=wie
(D) Galvanometer (C) Rurede
(D) fed-mie
Q107 The three basic units of an electronic 4 Q107 e war gomen @ &9 g
communication system are: 3 gHEdl #F W &7
(A) transmitter, transmission channeland (A) gieder, giafiem ¥9a afiv Rl
receiver B) Wigygeiey, fEiggees 3w Rder
(B) modulator, demodulator and repeater (C) revrer, wifgwl aiR g=wiiy=
(C) transmitter, noise and information (D) wiwter, e sl diggeer

(D) transmitter, signal and modulator

Q108 The lowesttemperatureat whichasubstance Q108 Hasi &% arer fore T2 18 Taed

catches fire is called its: UFHeal 8, 99 T Fel A 87
(A) melting temperature (A) TS TITAA
(B) ignition temperature (B) Woer= Tmanr
(C) boiling temperature (C) FaUHIS TIIHA
(D) freezing temperature (D) fRwias anasr
Q109 Chemicals are added to food for: Q109 = # vena fw St | M S
(A) degradation 87
(B) decomposition (A) Pl (Baem)
(C) preservation (B) JvgEH
(D) recycling (C) v
(D) R
Q110 Which of the following statements is TRUE Q110 Tftere anrale ﬁiﬁ‘fﬁﬁ%ﬁﬁa} B aN
about synthetic detergents? # Prfaftan o 9 @9 W dua wd 87
(A) They work with both soft and hard (A) Us g 3R POR Wil A D W™
waler, HM B 8|
(B) They do not work with hard water. (B) T8 $ER T # &M T8l H 81
(C) They work only with hard water. (C) 48 ud FON WA § &M A €
(D) They only work with soft water. (D) U8 dad yg o A I F 81
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QIUIT Use of chemicals for therapeutic effect is
called:
(A) chemistry
(B) chemotherapy
(C) physiotherapy
(D) chromatography

Q112 Which of the following diseases is caused
by the deficiency of vitamin D?
(A) Rickets
(B) Scurvy
(C) Nightblindness
(D) Pellagra

Q113 What is the percentage of fat and sugar
recommended in the diet of a growing child?
(A) ™%
(B) 25%
(C) 15%
(D) 30%

Q114 Based on the United States Department of
Agriculture (USDA) guidelines, what should
be the daily calorie intake of sedentary men
and women over 30 years of age?

(A) 1,600 02,200 calories
(B) 1,000 to 2,000 calories
(C) 1,000 1o 1,400 calories
(D) 1,600 to 2,400 calories

QI15 Hypocobalaminaemia is caused by the
deficiency of which of the following vitamins?
(A) VitaminB12
(B) Vitamin A
(C) VitaminC
(D) Vitamin K

LM-E
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Q11 fafesia wma & fag v o1 ggan
F B Fefafea § @ fva am 9
WA e 87
(A) vER=A g
(B) Frmnd
(C) faforarerydy
(D) @R

Q112 e D& &f @ Fror frsfafae §
A B |9 gy &2
(A) Raew
(B) ¥l
(C) weiret
(D) Uamm

QI3 gt 7= & farg amew # awn 3y
®1 fae wftrea sreifva fvar 27
(A) 7%
(B) 25%
(C) 15%
(D) 30%

Q114 wigaer v 3Rt & S fvier (USDA)
@ frefAde @ s w30 of @ afs
& IH T WG 7o 3R nReni @
qan 2w A @1 uswr e e
aifeg?
(A) 1,600 2,200 Harh
(B) 1,000 # 2,000 Pt
(C) 1,000¥ 1,400 #aH
(D) 1,600 % 2,400 Hardy

Q115 FEURPRIGIFAAAT (Hypocobalaminaemia)
Frefafaa 3 & fow flefim H o 2
wIor grar &7
(A) R=fmBI2
B) fa=fmA
(C) Refmc
(D) fefmK
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QI17

Ql18

Q119

QI20

LM-E

Which of the following diseases is caused
by the deficiency of vitamin B3 (niacin)?
(A) Rickets

(B) Beriben

(C) Nightblindness

(D) Pellagra

Which of the following allergens causes hay
fever?

(A) Seafood

(B) Peniillin

(C) Pollen

(D) Nuts

Which among the following controls the
beating of the heart and respiratory
movements?

(A) Medullaoblongata

(B) Spinal cord

(C) Spinal nerves

(D) Pituitary gland

Which is the basic structural and functional
unit of the nervous system?

(A) Neuron

(B) Nephron

(C) Cerebrum

(D) Cerebellum

Select the non-metal added to swimming
pools to kill germs.

(A) Oxygen

(B) lodine

(C) Chilorine

(D) Nitrogen

Z¥IISSN

40

Q116 R B3 Fraf) i w4 @ F=fafa

# | #F w O Ern &7
(A) Raew
(B) ¥9ad
(C) eliell
(D) Y&mm

Q117 Fr=fefam # & fra wegels (Tach) ®

R WA =N v 87

(A) A Ao

®) e

(C) T

(D) @de, TEm (Nuts) FRTTS

Q118 Freifafem # | @ W geg A g

v vaws & Fafe s &7
(A) Hrgen sifeier

®) #oTRy

(C) %% difa

(D) gy W

Q119 fr=fafm # 9 # @ dfae o3 6 5

Heaaers N eafes o 87
(A) =
(B) Wi
(C) wfm
(D) wfdem

Q120 Frewp @ 7 @ faw Rafim &

A W A IR-ar] #F ar 8?
(A) aifasiior

(B) ATEA

(C) T

D) LI
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Q121 Solvethe following Q121 Fr=fefaa & ga &9

10-[5-(5+10)]+5 i 10-[5-(5+10)]+5
(-5+10)-(5-10)+5 3 (—3+10)=(5-10)+3
(A) 1 (A) 1
(B) 2 (B) 2
(C) 5 (C) 5
(D) 10 (D) 10
Q122 Solvethe following Q122 fFrafafaa & sa &4
0.009 0.009
e 09 7
(A) 1 (A) |
(B) 1.1 (B) 1.1
(C) 0.1 (C) 0.1
(D) 0.01 (D) 0.01
Q123 The sum ofthree consecutive odd numbers Q123 worma 819 Ruw TRl & o g1
is 36 more than the first of these numbers, Henl | 9 gelt w1 g i 36
What is the middle number? e # | wen W a4 87
(A) 15 (A) 15
(B) 17 B) 17
(C) 19 (C) 19
(D) 21 (D) 21

Q124 The average of ten numbers is 6. I each Q124 =H Wil &1 aivag 6 &) 9 s

number is multiplicd by 12, then the average e @ 129 Ton o 8
of the new set of numbers will be: el @ Av ¥ &1 aftea am BIT?
(A) 20 (A) 20
(B) 28 (B) 28
(C) 36 (C) 36
(D) 72 Dy 72
Q125 If S 244 , then the value of x is Q125 i s Bl T x &1 HF &
3 0.144 1 . 0.144 x
(A) 0.0144 gIT?
(B) 0.144 (A) 0.0144
(C) 1.44 (B) 0.144
(D) 144 (C) 1.44
(D) 14.4
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Q126

Q127

Q128

Q129

LM-E

SECTION-4| GENERAL HINDI | 25 QUESTIONS

I e B — e ae @ SeEa
22

(A) wifem aeiHmE

(®) i g

(C) wifem s

(D) s wiaw

fFr=fafaa & | &9 W wEaE=E &5
JaTET 87

(A) 7 gwS T8 |

(B) 9w gdl el |

(C) 3 @rar Sar 2

D) g9 # aer TE )

frafafaa 4 wg @ #F & 87

(A) # amumr g S A §)

(B) 9 4@ & FE-1 # & =1 "3
q B

(C) # ot T & wWdtwv & fog
ar §

(D) T v a afte dw F A &

o 3, g P, o8 909 il
-Gt & drg e fawm-fres @
warr fasar se?

(A) ,

B) -

(©) :

D) ;

42

815084

Q130

Q131

Q132

Q133

2 Ry e Ak 9@ o & o |
o U@ W19 Tad g I 9 |

(A) AU Q91 et 8191 = WA 8
(B) 3fa 7 A= 1 = 9N W =

a1 2 | I A

HTA S = fAafem 9 g

AT 2 951 = T4 &7 Hhe

(€)

(D)
&A1

i F I AW AW — e

1 HwE A g |

(A) TV & SFET A B

(B) T & favg = B

(C) o™ B

(D) @ 4 % ve foan @fd

TETO 3N TEAT BT B W g EE
€l 27

(A) FeH — IFERT 9FE
(B) @ma — faemaa

(C) WIRRM — U=

(D) ¥ — fFemmaen

‘Fgan o iR AR A el e
o &7

(A) denms qoi s

B) #EER i TAd

(C) =iy sRwdw

(D) Wrger ARG
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Q134

o
Lad
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o 2016 & Wik srwEHA
farer vermeR @) Rar T
(A) Hger T

(B) verEE e

(C) wvEwer fam

(D) ftwr i

PLEE Ok

WY Bt o R afv ol daemrh
et | T i st & R arade
W forar war &7

(A) 343

(B) 344

(C) 345

(D) 347

Frefefae ga & gd afiv wef
(W9 HEAT 136 - 138) @ 9w & |

Wit & wnEt # qwreet o
I afeddel Heegel & | g1 gan wite
& o @ v, gfie sfiv afigfe o
Bl [R@IE WaaT @ sfoery @1
ren—sirren maw # | g @ 4w w)
T ARa B e s e
R 4 8 | gEwey uNa @ e w9
1§ a% 761 2 | ol @ anfeesw @ ara
% @I AR QRIS &1 608 &9 @
| 98 <awd, figaea s ueg
¥ WIS & W@ WH ' 9 e
foRaa, fRggsomt & g faoh
TR 1 8% & | Havimen & anfesr
¥ i qRIS B GUE TN ATAHA B
Y8 WY 91 A o | JrATHe AR

T I0nnL

43

Q136

Q137

feafty & gramrera F e wafes ameh
&, T & Rl il v s A
ot @ i e o) wme @
TRI@E |§OR W § A9 | T8
@ ° | WHEETE W qTe wael @
v T A Rafy o) dm, e
wft g Rua 0t 9 ge-3-gs
RgarRrfl @@ a=t &ve wra s
B o |

SudFn TgEin @ SR dide wm @
Hean 87

(A) W e & qRa@Ter

(B) W@ @1 g

(C) T BT HWUE

(D) gwmey Y AR

TEaY | Wifea e ) sfta e
T BI?
(A) wifew @ 9=y &1 wad s
A A g 8
(B) =TI ARG @ Wil @ sru
W@ ¥ | ¥ qaTerdl @ SR 9,
wrE Wi gex fem deif @
gs-F-ge Regrrh & amg
HYE W AT e & | A IR D
IFa-TNg &1 SR §)
ARG & [RISTAT W W1 H 3750
|l T8 T o
TRV & AR § g e
T HUE T ATSIhe o) ONE
T A1 A 9| AR A WEN S

QI & ¥WUE &1 "

©)

(D)
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Q138

0139

Q140

Ql4]

LM-E

wifgen @ I @1 AW AfdE wEey
A Fa 87

(A) saad

(B) Jored

(C) gw@ey

(D) HEIEH

Frefefea 3 @ fraa simfa Prf,
gfgal @ wgia aen qegis anf
a4 o &7

(A) T3

(B) qfRuz

(C) ww famfi

(D) s@Eiaa andw

feiforftae & @ fwa g avar
TN IR St wed el | e
wand Fram, sy, sRER sl Pl
# HqE B wET A g 87

(A) ®Eiaa e

(B) fERgEH

(C) s+

(D) uRu=

frfeitaa 4 9@ @9 @ \gaa @) T8
#?

(A) ¢

B 1

C) &

(D) 3

44

Ql42

Q143

Q144

Ql45

Q146

feiferfara & & &9 wr adf g3 Tl
27

(A) @

®) =

(C) =

(D) 1

A § frw guwt @ wdm gan 87
(A) ¥
B) ¥
(C) ¥
(D) 9

frafafer 4 @ e e o af@ge
WeId &1 WA g &7

(A) arffs®

(B) firda

(C) o

(D) fam

9 9 e acHd A8l &7
(A) ure
(B) 9o

(C) TmE
(D) fes

‘AN’ W TR WY a4 w8
(A)
B) 3w
(C) T
(D) @t
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Q147 e forar gon 43 & fow Sugw s
e 1 BITY
(A) &=
(B) T
(C) Twfam
(D)

ro0e L bt

Q148 #+ # drar & 9o var @y
gl 21 — ofm = 9 Rem wme
HRY |
(A) 3T
(B) #

(C) faea
(D) e

Q149 ‘w@ famr gw @@ 71l &1 — aray |
HAHEERS e B 6T 87
(A) =T@
(B) fam
(€) @1
(D) @B

Q150 forw ¥ ol &l ¥g &7
(A) T=
(B) W@
(C) wef¥h
(D) T
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ROUGH WORK /%% &1 & fao
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Read the following Instructions carefully :

fpafafaa Adaf & =2 4 o2

1. Out of the four altermatives for each question, only
one circle for the correct answer is 0 be durkened
completely with Black Ball Point Pen on the OMR
Answer Sheet. The answer onee marked 15 not liable
to be changed

. The candidates should ensure that the Answer Sheet
is nol lolded. Do not make any stray marks on the
Answer Sheet. Do not write yvour Roll No. anywhere
else except in the specificd space in the Answer Sheet

). Handle the Test Booklet and Answer Sheet with care

as under no circumstances {except for discrepancy in

Test Booklet), another set will be provided

The candidates will write the correct Test Booklet
Series us given in the Test Booklet in the Altendance
Sheet.

5. Euch candidate must show on demand his / her Admil
Card to the Invigilstor

Mo candidate, withoul special permission of the Cenler
Superintendent or Invigilator, should leave his /[ her

seal

-

The candidates should not leave the Examination Hall
without handing over their Answer Sheet to the
Invigilator on duty. Cases where a candidate has not
signed on the Atiendance Sheet will be deemed not 1o
have handed over the Answer Sheet and deualt with ns
an unfair means case.

. Use of Pencil/Electronic/Manual Calculator is
prohibited.

=

. The candidates are governed by all Rules and
Regulations of the Commission with regard to their
conduet in the Examination Hall, All cases of unfai
means will be dealt with as per Rules and
Regulations of the Commission

10. After Examination is over, candidate has 1o return his

Answer Sheet to invigilator. Invigilator will hand over

d

the Candidate’s copy to candidate, then only
candidate is allowed o leave the examination hall
Candidate is only allowed to lake Candidate’s copy ol
answer sheel.

11. Candidates are not allowed to take Test Booklet with
them. They have to submit the Test Booklet to the

Invigilator after the exam.

HROESEOE

i

1, weldE g9y @ o Ru o an Rest 4 |

a8l 99 & [']v ¥ 'R MR 9T USE U9

Hdel T e @ & TN T8 e a1 Yise

U 9 ¥Y | U 4N I alfda e @M @
G Bl

gflenell ghif¥aa & @ S u=E @ HIe

A AT T 9W W @y 3= R A @l

T 1 IR 9T US| FEiRe

T Hdhe

i [+

el 3ne
i & affeT aras T ol |

gflen gftcrenr Ud 9T UEE @ EIEYED
gur e it e o offftefa o @ae
udten gt 3§ @9 $ Bre 7 Y g
1|.“""'H Ud It UFEE JYUeEl '_‘|T-":[ ehivTAT
it

gy h =

wien giteat 3 € 1 ofen Ras @9
#) gieredl wdf afe 9 sufef® uw #

1% |

yid G U9 Wede qdeiedl, el areiea ®l
WU+ vae o9& e

T

fa

mh
o

i AT e SFoeE @ [ i @
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